Product Engineering / Structural Pipe Connectors “(:[.N

systems

U-BUSHING 1010-00010051-000

SPLIT BUSHING

0.125-0.250

@

2.00

S, wn o
< 8 =

D::&II):'ISI:;N & Z = ST Wt. ORDERING
w

O 0 0|0 £ Y = (Lbs) | PART NUMBER?

= =

23/8"TO17/8" 125-

SPUTBUSHING | 2370 | 1910 | o | 200 230 STEEL | NO FINISH

27/8"T023/8" 125-

SPLITBUSHING | 2885 | 2385 | o0 | 200 250 STEEL | NOFINISH

1. FINIISH:

NO FINISH

2. PART NUMBER; 1010-00110051-001:
2010 signifies assembly of connector/s and corresponding hardware (bolts, washers and nuts).
-001 signifies nominal 2” pipe diameter (OD 2.375"),-002 signifies nominal 2 1/2" pipe diameter (OD 2.875")
10051 signifies a unique part number, U-BUSHING
-001 signifies the part finish, PLAIN, NO FINISH.
3. ORDERING: See part number in above table.
4. MATERIAL:
mild steel
5. INSTALLATION:
23/8"to 1 7/8" Split Bushing; Insert split bushing inside 2 3/8" connector and then insert 1 7/8" pipe into inside bore of split bushing.
27/8" to 2 3/8" Split Bushing; Insert split bushing inside 2 7/8" connector and then insert 2 3/8" pipe into inside bore of split bushing.

6. DIMENSIONS: All dimensions are in inches.



